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ANSWER KEY TO HOMEWORK SHEET 11
Concavity

NOTE: this answer key contains only the correct answers. To get full credit for your solutions,
you also need to show the procedure you used to arrive at the correct answer, unless explicitly
stated in the exercise.

Exercise 1 (16 points).

(a) cos(sin(sin(z))) cos(sin(z)) cos(x).

(b) (1 + (tan(sin(z) cos(z))?)(cos(z)? — sin(z)?).

(c) (1 + (tan(sin(z) cos(cos(z)))?)(cos(z) cos(cos(z)) + sin(x)? sin(cos(x))).
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Exercise 2 (24 points).

(2)

(a) CU between 3 and +oo, CD between —oo and 3. Inflection point at 3.

(b) CU between —+/3 and 0 and between v/3 and +oo, CD between —oo and —v/3 and between
0 and /3. Inflection points at —/3,0, v/3.

(c) CU between § and %”, CD between 0 and § and between %’r and 27. Inflection points at
T 5T
6 6 °

(d) CU between \/% and +o00, CD between 0 and \/% Inflection point at \/%

(e) CU between —oo and 2 and between 6 and +oo, CD between 2 and 6. Inflection points at
2,6.

(f) CU between —3 and 3, CD between —oo and —3 and between 3 and +oo. Inflection points
at —3,3.



Exercise 3 (20 points).

(a)

wllfjloof(x):L f(0)=—-1,
CU between —% and %, CD between —oo and —% and between % and 4oo. Inflection

i 2
points at i\/g.

(b)

lim f(x)=0, lim f(x) = +oo0,
T——00 x—0~
i () = o0, lim f() = 1.

CU between —oo and 0, CD between 0 and +o00. No inflection points.

(c)

fim_ f(a) =+, sy =3,
f(2)=4%-2m2, lim f(z)=—o0.

T—+00
CU between 0 and ﬂ, CD between v/2 and +oco. Inflection point at V2.
(d)

wl

lim f(z)=e€"2, lim f(z)=e?.
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CU between —oo and %, CD between % and +o00. Inflection point at %



